C:h Checking Division Answers Name:

Check each answer. Determineif theanswer is'correct' or 'not'. Answers
/ Division problems can be 263+ 8=32r7 182+ 6=29r15 \
checked by multiplying the 30 29 1
guotient by the divisor and then 6
adding the remainder. x 8 a
256 174 2,
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1 % WIE
1) 687-7=98r1 2) 416+3=138r2 4
5.
6.
3 789+6=131r3 4) 283+8=35r3 !
8.
9.
10.
5 940+5=117r4 6) 578+4=144r3
7) 271+7=3812 8) 997+8=1332r1
9 121+2=60 10) 463+5=115r3
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Checking Division Answers Name:. Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263+ 8=3217 182+ 6=29r15 \
checked by multiplying the - 29 1 correct
guotient by the divisor and then 6
adding the remainder. x 8 a
256 174 2 correct
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 % / 3 correct
1) 687+7=098r1 98 2) 416-3=13812 138 4 __correct
x 7 x 3 5. not
686 414
+ 1 + 2 6 not
687 416
7. not
3 789+6=131r3 131 4 283+8=35r3 35
x 6 x 8 8 not
786 280
789 283
10. not
5) 940+5=117r4 117 6) 578+4=144r3 144
X 5 X 4
585 576
+ 4 + 3
589 579
7) 271+7=38r2 38 8 997+8=332r1 332
x 7 X 8
266 2656
+ 2 + 1
268 2657
9 121+2=60 60 10) 463+5=115r3 115
x 2 x b5
120 575
+ 0 + 3
120 578
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